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Problem #88-

wn
Zz
wd

(sec)

0.2
04
0.6
0.8

1.2
1.4
1.8
1.8

22
24
26
2.8

3.2
34
36
3.8

4.2
4.4
46
4.8

5.2
5.4
5.6
5.8

6.2
6.4
6.6
6.8

7.2
74

2
0.1
1.990

(‘05‘4'

x0=1 mm
x0 (m)

A (m)

phi (rad)

X
(mm)

1
0.923119
0.712086
0.409234
0.067574

-0.25807
-0.51952
-0.68205
-0.72859
-0.66101
-0.49833
-0.27254
-0.02277

0.21126

0.39524
0.505106
0.529886
0.472362

0.34759
0.179672

-0.0026
-0.17046
-0.29955
-0.37327
-0.38468
-0.33685
-0.24159
-0.11699
0.015773
0.135939

0.22624
0.275272
0.278767
0.239697
0.167262
0.075018
-0.02152
-0.10736

0.001
0.001
1.471

X
(m)

0.001
0.000923119
0.000712086
0.000409234
6.75744E-05
-0.00025807

.-0.000519522

-0.000682046
-0.000728588
-0.000661006
-0.000498326
-0.000272543
-2.27669E-05
0.00021126
0.00039524
0.000505106
0.000529886
0.000472362
0.00034759
0.000179672
-2.50684E-06
-0.000170459
-0.000299551
-0.000373268
-0.000384682
-0.000336852
-0.000241589
-0.000116994
1.57728E-05
0.000135939
0.00022624
0.000275272
0.000278767
0.000239697
0.000167262
7.50176E-05
-2.1517E-05
-0.000107365

x0=5 mm
x0 (m)

A (m)

phi (rad)

X
(mm)

5
4615595
3.560429

2.04617
0.337872
-1.28035
-2.59761
-3.41023
-3.64294
-3.30503
-2.49163
-1.36271
-0.11383
1.0563

' 1.976199

2.525528
2.649429

2.36181
1.737952
0.898362
-0.012938
-0.85229
-1.49776
-1.86634
-1.92341
-1.68426
-1.20794
-0.58497
0.078864
0.679694
1.131201
1.3763589
1.393836
1.198486

0.83631
0.375088
-0.10758
-0.53682

0.005
0.005
1.471

X

(m)

0.005
0.004615595
0.003560429

0.00204617
0.000337872
-0.001290351
-0.002597608
-0.003410228
-0.003642942
-0.003305028
-0.002491628
-0.001362715
-0.000113834
0.0010563
0.001976199
0.002525528
0.002649429
0.00236181
0.001737952
0.000898362
-1.29842E-05
-0.000852293
-0.001497755
-0.001866341
-0.001923411
-0.001684258
-0.001207943
-0.000584969
7.8864E-05
0.000679694
0.001131201
0.001376359
0.001393836
0.001198486
0.00083631
0.000375088
-0.000107585
-0.000536824



x0=10mm x0=100mm
x0 (m) 0.010 x0 (m) 0.100
A (m) 0.010 A (m) 0.101
phi (rad) 1.471 phi (rad) 1.471
X X X X
(mm) (m) (mm) . (!m)0 1
10 0.01 10 :
9.231191 0.0092312 92.31191 0.092312
7.120858 0.0071209 71.20858 0.071209
4 pooass a ncinnos e ARE R, AR AR
Problem 138 | 5 4
120
100 — - =-x0=1mm
270701 h OO ol x0=5mm
T 60 \ — ——x0=10mm
£ ———x0 =100 mm
':: 40 \ [\
% 20 \ / ™\
E O :'."\.l)___ - L == SR— .-r_r._l__“ /\//1 —
8 0 \ B 27 zk / 6 \ 8/ 10 12 14
E ol \ ]
sl \ ]
Y
-80
-100
time t (seconds)
-2.41589 -0.0024159 -24 1589 -0.02416
-1.16994 -0.0011699 -11.6994 -0.0117
0.157728 0.0001577 1.57728 0.001577
1.359387 0.0013594 13.59387 0.013594
2.262401 0.0022624 2262401 0.022624
2.752718 0.0027527 27.52718 0.027527
2.787672 0.0027877 27.87672 0.027877
2.396971 0.002397 23.96971 0.02397
1.67262 0.0016726 16.7262 0.0186726
0.750176 0.0007502 7.501763 0.007502
-0.21517 -0.0002152 -2.1517 -0.00215
-1.07365 -0.0010736 -10.7365 -0.01074




Charts for Chapter 1.3 Problems

Problem 138 | 5 ¢4
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